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. BEPUPEREYE ODE @y +16y=-1 - [94 R[4 EH 10%])

(D2 +2D+ 10)(D4 -D? ) y=sin3x+3x>+xe*. Find the form of particular solution,
and do not solve it. [95 ‘]%—‘\%:’7&\%5’? 4%]

Solve the differential equation " —4y"+13)'+50y =—4cos2x. [93 Z%STEI?C?%F[’? 10%])
Solve y"+2y"=e"cosx. [92 ’F’ﬂ\?‘#ﬁ%ﬁ’? 10%]

Solve y"+3y"+3y'+y=_8sinx, y(O):—l, y’(O):—3, y"(O)zS. [94 Emi)fg\%%ﬁ’?
14%]

Solve y"—y'=25cos2x. [91 Em{?ﬁ*&;”ﬁfﬁ’? 15% > 91 E’??ﬁj?‘_ﬂi&}ﬁ’? 10%]
Solve y"—4y"+y'+6y= (e’“ —2)2. [90 7& A ES 5 10%]

Solve y""+y"=3x"+4sinx—2cosx. [90 [ [~ A7 15%]

Solve y""—=10y"+9y=x"+1. [90 HE[+ FF7 10%]

.Solve y"—4y"+y'+6y=cos2x. [91 ’Fi{%mﬁ’? 10%])

. (2) Find a third order constant coefficient O.D.E. with the following function as a solution
y=ae" +bcosx. (b) Find a second order linear O.D.E. with the above function as a

solution. [86 ﬂz\{#}’ﬁjﬂﬁ’? 12%]
.Solve (D*+8D+16)y =~sinx. [91 {&¥¥ FlTr 10%]

. Consider a third order ODE " +3y"—y)'-3y =3,

(a) Find a particular solution of y" +3y"—y'-3y=3.

(b) Find three linearly independent solutions of y"+3y"—3)'—=3y=0. Justify that the
solutions are independent.

(c) Find the general solution of " +3y"—y)'-3y =3

(d) Explain the terminology ‘“general solution”. Can you think a way to show that the
solution you obtain in (c) is the general solution? Write out the procedure clearly.

(e) Find another particular solution of y"+3y"—3y'=3y=3. [91 ?ﬁ'?ﬁ—?&%ﬁ’?%%]






